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1. T V=780m3
(1) ET CK#) BC. 110~BC. 112
Gt Bt =X 1. 000
PRYE T FEAB A Hl m3 140. 000
MRT BRI L m3 53. 000
aR=UEEUNC=UNEY) Hebdim il (A J10F) m3 425. 000
A ERDA Bt FEMRREIA m3 370. 000
A B L1 1 BT AR m 247. 500
Gt WesE (1)A F20 1. 000
PRYE T B Hl m3 118. 000
i G0 A (5D ER) Hbim il (A J10F) m3 84. 000
A ERA WOE (1) A FEAAIA m3 132. 000
Ak B L 1 BT Bk m 63. 800
Gt wes I F20 1. 000
PAR A E T (RIE T) #0011 B A ) m3 13. 000
PEHI Y BRE s () B AAE ] m3 3.000
PEHIHRDA (s 1) FEAAIA m3 8. 000
Bt =X 1. 000
Ptk + HEIR, B L - il 8D m3 114. 000
e BEAR, B L - i D m3 42. 000
& T IE F20 1. 000
B BB L=1. Tkn B Sl m3 370. 000
fELER WS (1A L=1. Tkm B Al m3 132. 000
L WS L=1. Tkm B Al m3 8. 000
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F % 1 %ﬁﬁg PR MR D LA | 510. 000
2. ¥&if L A=229. 5m2
(1) ¥ T (CR#R) No216~No219
18 L =X 1. 000
27 Y — MR T JZ £ 15cm nd 229. 500
VS Bk T ¢ 6.0X 150X 150 ot 216. 700
BiAE IR O AR (188) m 77. 500
R —HRFURE, By Lav)) -} i 0. 500
i f"éz(if(jfgg tkg/m kg 482. 400
B ik VB HRMEE H H#IAK t=10mm o 3. 200
3. LmEiREL A=311. 3m2
(1) MR T (RHR)
EERE L X 1. 000
A~ > b ot 247. 500
7 ABRT. nd 63. 800
4. PEEET
(1) PERET (CRH) av))-MgERET. V=223, Im3
HERE T (3v))-1) No. 216+4. 1~No. 217+10. 4 =X 1. 000
EPaFaw i k;%“%?; ég;/fﬂo (% m3 70. 600
LR m 36. 300
HERET. (27)-}) Eg Ségjb?&@~@) = 1. 000
B AR k;%“%?; ég;/fﬂo (% m3 152. 500
LR m 76. 300
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R — R, NS E ) m 11. 300
LR T 20cm, W)L ot 4.300
Ho L nd 1. 300
HoLHEE T (RS R+ A m3 1. 000
Hr A T RS #os (1)A A m3 1. 000
ST 7 S 50cm X 1§ 120cm m 2.000
oy 7Y —F éﬁ%ﬁiﬁ%” TR 18 0. 300
R R, NS E ) m 2.100
S B IE o 1. 000
A I RHA 7 (AR 1) A m3 1. 000
BEAAE I RHA 7 (4 (1) A) A m3 1. 000
L MR L=1. Tkn AR m3 2.000
FEHEM Wos (1)A L=1. Tkm B S m3 1. 000
WRL(ZL—F ) No218+13. 5 (EC. 111) {3t 2V 1. 000
LS L —F o 7 (EHIZFeft) U =25 99554001 g 1..000
oy 7Y —k éﬁ%*ﬁlﬁg’ TR 18 1. 200
T — R, /NS m 7.100
AR T 20cm, ¥ L o 2. 900
S B IE m 1. 800
Hr A T ORYE) BET 1 A m3 1. 000
HELAEEI T (RIE) #ce (1)A A 1 m3 1. 000
SEAmnT ) X50cm X fif§120cm m 2.000
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A A A 7 (B 1) Btk A1 m3 2. 000
BRI MR A 7 (s (1) A) Btk A1 m3 1. 000
fEE BE L L=1 Tkn BB IE m3 3. 000
e oE ®Wes (1)A L=1. Tkm PSR m3 2. 000
6. JEERf R T 1. 0=
(1) 8B AT @ s T
W= RL— E20 1. 000
BN VR E /) -MEA, AL C-2B m 38. 800
FHTRER A 13mmEL T ton 0. 090
7. L 1. 0=
(1) e T
R L X 1. 000
A DIREM m 90. 000
8. HMRALHT 1.0
(1) bty
R HER =X 1. 000
HER  (RERE MimER: 1lem EN 1. 000
HEAR  (RERE MImER 12cm EN 3. 000
HER  (RERE MBS 13cm EN 4.000
HEAR  (RERE MimER  ldem EN 1. 000
HER  (RERE M ER: 15cm N 1. 000
HER  (RERE M ER:  16cm N 1. 000
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MR fetR#r M@ EA  17cm A 2. 000
MR Ottt M E e 19cm N 2.000
MEAR R M@ B 20cm A 1. 000
MEAR R M@ B 21lcm A 1. 000
MEAR R M@ B 22cm A 1. 000
MEAR R M@ B 24cm A 2. 000
MEAR R M@ B 26cm A 1. 000
MEAR fRgREe M@ B 27cm A 1. 000
MEAR fRgREe M@ B 29cm A 1. 000
MEAR fRgREe @B 3lembh b m3 4,100

(2) MRikI sy

TRERAL 55 B X 1. 000
IRAREME L=13. 2km m3 6. 600
TRIRAL 55 B ton 4.700

(3)Be& it

CESAER =X 1. 000
CESAER ot 792. 800
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